1) (15 points) Find the interval of convergence and the series radius. For which value
of x does this series converge absolutely and conditionally?
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. 7 l+x
\/./ b. (5 points) Use the series found in part (a) to write series of e
+x
c. (10 points) Use (b) to'approximate tan” (0.1) with |error| < 0.0001.
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4
(10 points) Use

[N}

ule) to evaluate lim

x—=0
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4) Replace the polar equation by an equivalent Cartesian equation. Then describe the
graph:

aj (5 points) r = 3cosé
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b) (5 points) r = 4tanfsecd
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6) (10 points) Make a table of values to draw the curve: » =1+2cos@ . Label the x and
y intercepts.
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7) a.{8 points) Given the curves rn =(1+sin8) and r, = 3sind, find their intersection

points.
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‘ b. (10 points) Find the area 1/n51de r, and outside r, . Vr im\‘f@ﬂ;( (L\Q i




